St. Mary’s School, Dwarka
Holiday Homework
Std. VIII
Week 2
Worksheet 2
Subject: English

General Instructions:

1) The work should be done neatly and in a systematic way.
2) The given questions are to be done in the English notebook.
3) Attempt all questions.

Q1. Read the following passage. (1x5=5)

We know that day and night are caused by the rotation of the Earth on its axis. So, for some time a place
on the globe faces towards the sun and for the rest of the time it is turned away from it. To early people,
a day meant the span of time between sunrise and sunset. We still use the word in this way to distinguish
it from the period of darkness that we call night. But as civilization developed, it became necessary to
identify days more accurately and to work out when they began and ended.

The ancient Greeks measured their day from sunset to sunset. The Romans, unlike the Greeks, measured
their day from midnight to midnight. Most modern countries use this Roman method. Before mechanical
clocks were invented, people divided the day and night into 12 hours each, but this method proved
impractical because the length of the day differed with the seasons. The invention of the clock helped in
developing a system of measuring time that is now used almost everywhere.

Under this system, the day lasts for 24 hours from midnight to midnight. Although we no longer divide
the day and night into 12 hours each, we still use two periods of 12 hours each. These equal halves are
distinguished by the abbreviations a.m. (ante-meridiem, a Latin phrase meaning "before midday') for the
period from 12 midnight to 12 noon, and p.m. (post-meridiem, meaning 'after midday) for the period
from 12 noon to 12 midnight. Other ways of splitting up the day include the division into morning (from
midnight to noon), afternoon (from noon to dusky, and night (from dusk to midnight). A variable period,
called the evening, falls between 5 p.m. and the end of twilight. It is the period after sunset when the sun
is only just below the horizon. In summer, the evenings are longer than in winter.

1.1 Based on your understanding of the passage, attempt the questions given below.

i. We distinguish the period of darkness from a time between
ii. Mechanical clocks have helped us to
a) divide a day of 24 hours into two halves

b) measure the day from sunset to sunset

c) benefit from the beginning and ending of each day accurately.

d) calculate the movement of the earth around its axis.

iii. Why is dividing the day and night into 12 hours each impractical?
iv. Which of the following statements is NOT TRUE?
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a) Evening is a time of the day that falls between 5 p.m. to twilight.
b) Commonly used abbreviations, ‘a.m.” and ‘p.m.’ are derived from Latin words.
c) Ancient civilizations have influenced the way people measure their day now.
d) Twilight is a period before the sunset. In summer, it is longer than in winter.

V. Suggest a suitable title for the above passage.

Answer questions 2 to 4 in 20-40 words.

Q2. Why do you think Dad’s Barmy Army was also called as ‘Dad’s Disaster’? Do you think the name
is justified? Suggest another name for the army. 2

Q3. According to you, which is the most unusual quality of the mechanical house? Explain. @)

Q4. “When we leave the limits of the

land in which

Our birth certificates sat us,

It does not mean

Just a change of scene,

But also, a change in status.
Here, ‘scene’ refers to the physical environment of a person. When does the ‘scene’ of a person change?
How does that lead to a change in the ‘status’ of a person? @)

Answer question 5 in 80-100 words.

Q5. Discuss the impact of a war on animals with reference to the chapter, ‘There Will Come Soft Rains.’
©)

Q6. Design a newspaper page on ‘Home Guards - the Protector or the Enemy.” Collect information about

the formation of the army, its actions, and consequences. The information must be accompanied with

cartoon strips and photographs. (5)
Q7. Fill in the blanks with suitable word (@)
Q) The visitors arrived she was preparing dinner.
(i) He could not go he was ill the doctor had advised him to stay in bed.
(iii)  He had missed the excursion, he did not feel too disappointed.
Q8. Complete the given sentence, by filling in the blank with the correct option: 2
Q) Ali a dog like yours?
(a) Will, had (b) Do, has (c) Does, had (d) Does, have
(if) We that Tanvi washable paint to draw on her face.
(a) are relieved, using (b) is relieved, used
(c) were relieved, had used (d) was relieved, have used

Q9. You are Aliza/Alan. Your brother’s friend, Amit calls to inform that the piano lesson has been
cancelled as the teacher is unwell. Instead, all his friends are meeting at the Study Centre to prepare for
the history test. Amit wants your brother to join them. Draft a message informing him that he must join
the study group by 3:00 p.m. You are leaving for your tennis match and will come back around 5:00 pm.

3)
Q10. You are Aisha/Ashneer, a resident of 260B, Ashram Road, Gujarat. Write a letter to your friend
sharing about a new skill that you have learned during the vacation. 4)
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Subject: Hindi

fAder — 1 fou e wefl uesil & Iow foedt &t 3caw yfeaer d SifEe |
2 woft uesll & Icax f g 3 fAxaer weEl of afea difse|
3 orf ¥aee, Y vd W od i ol |

ueet 1 fAssifafta smufda scamer o ygor sad smr w waifde 3ugad I ael
fawoa goor fafke — (1x5=5)

eI e wEicie ufl 8| wenst A 3wd fax oft g1a &, ey off, uRfda off, smffha
aft | stel ao erpEil, uRida siiw smffidl ®r ueel 8, 38 usarelell agd ®fed odl Eldl,
fvog fisit @) usTeton ®fdd glar 2 | F=Ias e fASi ®I usdretar agd ®fed gdr 2 |
AT URR ¢l IRM € fd v 30 dl agd < ¢lldl 3MUci-31Uel warefael wuee, wwdl 3ii &S
sicfal @ fAS g oa & a1 emer wEl ag sen fo g foxaer aed € fo a fax 2|
ga®d faudld oiel ao Jrkle, fodfe sfte gl elloll @1 ugel & fAN weten dl g =&l wllal
3ol BRI A oft g eI € | seiifcle ®18 @ifea sar ardafas Ay & o =€, s aa
@I Udl a1 dd dd oIel o191 Hdbdl oid dd & faufa o o &t | faufar & ot fas ar =mrer
BIs ¢d € itz = fAs wer <l Bisd, arafds @y A € da 2| safde as dle & e
st € o fqufel foser © o @ |

1 fo& yeareten ®ofés gar &7

(w) ory @

(za) fo=r @t

(a1) cafaea @t

(ar) faufer ot

2 o1 €8 sicfae @ @3 ol @ sid 7

(er) erysil, st s suRfd @
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ues 7 dareil & sl ofdar 3 ofd & s ware o Pikaeel @) gleten Tl e &7
31U 3IJAIR. dcldllel TR i eI ® Sildel 9t fdbet airdl @I 3181Id oIstT 311dr &7
(3x1=3)
MZ1 8 clad @l of died ge #fl 3v “acRI ad A o=l Siel usi! AfG 31U clad & <RIl
U Eld dl aen dd ! (3x1=3)
e 9 © el o oo arer & <lereT o drar 7 (2x1=2)
| gagiiael o &7 3oaiat fRicere! o fdae aeiew & =it fen?  (2x1=2)
J12e1 10 31991 Siovifasl U= 3uel fAY @ smeifSia ®wd ge wia w g5 acdda ot

70 & 100 el 9 Hae @ wu 4 foifde | (5x1=5)
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Subject: Mathematics

General Instructions:

1) The work should be done neatly and in a systematic way.
2) The given questions are to be done in the Math practice notebook.
3) Attempt all questions

QL. State whether the following statements are True/False : (0.5x4=2)

a) A linear equation can have a rational number as its solution.

b) The term linear equation and linear expression are exactly same.

C) The algebraic equation is said to be linear, if the highest power of the variable is 1.
d) The solution of the equation, 8x - 16 = 24 is 6.

Q2 . Choose the correct option: (Ix2=2)
i) If x/2+5/3=-1/2,then x=

(@) -13/3 (b) -3/13 (c) 13/3 (d) 3/13
ii) The value of x for which the expression 3x-4 and 2x+1 become equal is

a) -3 (b) O (©5 d1
Q3. Simplify and solve the following equation for the given variable .

10p-(3p-4)=4(p+1)+9 ()

Q4. Verify that x = 2 is the solution of the equation 4.4x — 3.8 =5 (2)
Q5. Solve the given equation 3 Xl x5 i =17 % 2
Q6. Form the equation and find the value of number: 3

a) Five times of a number added to 4 is 29 .
b) 7 subtracted from three times of a number is 23.

Q7 . Solve the equation : 3
i{i[i[ix_ 23_1]_1}“ _ 2
zlzlzlz
Q8. Solve the following equation and check your answer : (3)
~+77 x +

Sxt+ 2 dx 44

Q9. Collect the information about ages of three persons around you in different age groups.
and form an equation expressing your age in terms of their age. (e.g. your uncle’s age
= 34 years , your age 14 years i.e. your age is 3 less than half of your uncle’s age) (3)

Q10. Hide and Seek 3
Description: From the table, choose any one item from each column to form an equation and
solve it. Form at least 3 equations , mark them with different shapes or colours . One example is
done for you. The items chosen in this case are encircled in the table.

(To be done on A4 size sheet)

Page 6




Equation : —18a+ (-3/5) =21

Solution of equation: —18a =21 + (3/5) = 108/5
a =(108/5) x (1/-18) =-108/90 = —-6/5

3 b @ 6 o 18
8 @ * -1 @ -18
@ b § = 2713 = 154

=] X X 6 = L2
17 P = 2. 62
22 r + 1 = -2/3
65 S = 12 = 1

Page 7




Subiject: Science

Objective:
e Revision of concepts.
o Skills to carry out research and develop scientific aptitude.
e Encouraging learning through experience.

Instructions:

* Neatly write the answers in your science notebook.
* Attempt the questions keeping in mind the weightage of each question.

Q1. In 1810, X was used for street lighting for the first time in London. Identify X and write
one of its uses. D

Q2. When you see your teachers carrying heavy notebooks you volunteer to help by carrying them
yourself. If the dimensions of the notebooks are 20 cm x 25 cm and they weigh 15 N. Calculate the

pressure the notebooks will exert on your hands. (2)
Q3. What are fossil fuels? Why are coal and petroleum called fossil fuels? @)
Q4. How are worms and microbes helpful to farmers? (2)
Q5. Give two examples each for the following effects of force where: (1+1+1=3)

(a) Force changes the speed of a moving object.

(b) Force changes the direction of a moving object.

(c) Force stops a moving object

Q6. What is carbonisation? Enlist the various variety of coal available. 3

Q7. The following graph shows the yield of wheat and soyabean grown alternately between the year
2015 to 2020 in tonnes per hectare. Look at the graph and answer the questions that follows. (3)

Wheat/ Soyabean Crop Yield

70
60

50

60
55
50
45 45
39 40
40 35
30

30 25
2 15

10
o

0

2015 2016 2017 2018 2019 2020

o

o

B Wheat Soyabean Columnl

(a) What is the reason for continuous increase in wheat and soyabean yield?

(b) What would happen to the crop yield if only wheat was grown in the field?
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(c) Name and explain the cropping pattern adopted by the farmer.

Q8. Fill the following table by calculating the net (or resultant) force.

(1.25 x 4=5)

Forces acting on the table Balanced or | Resultant | Direction of
unbalanced | force the net force

(left or right)

* 750N

Q9. Look at the given picture carefully and answer the following questions

(1x5=5)

Wells

(a) Why do we find the deposit of petroleum and natural gas above the water?
(b) Name the four constituents of petroleum.

(c) Write two uses of paraffin wax.

(d) Name the process by which petroleum is refined.

(e) Enlist the names of three places in India where natural gas has been found.
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Q10. According to the satellite data captured by the Indian Space Research Organisation (ISRO),
Rudraprayag and Tehri Garhwal district of Uttarakhand are landslide prone areas in India? Elaborate
the reason for it. Suggest steps that can be undertaken to prevent landslide in Uttarakhand. (2+3=5)

-~ -
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Subject: Social Science

General Instructions:

The work should be done neatly and in a systematic way.

The given worksheets are to be done in History and Civics notebook.
Mention the number of worksheet while doing the work.

Write questions along with the answers and number them correctly.
Maps/diagrams are to be pasted/drawn in the notebook.

Project work is to be done in scarp files.

YVVVYY

Q1. Define the given terms: 1
(1) egalitarian society (i) tribunal
Q2. Enumerate the difference between ‘Rule’ and ‘Rule of Law’ 1
Q3. How are human beings an important resource on earth? 1
Q4. Look at the pictures given below and mention the periods to which these belong to in Indian
History. 1
(i) (ii)

(iii) (iv)

Q5. What is a Constitution? State its significance. 2

Q6. Answer the following in brief: (1.5+1.5=3)
(i) Why do you think merchants and traders from Europe came to India?
(if) Why did the British conduct so many surveys in India?

Q7. Enumerate the difference between the following: (1.5+1.5=3)
(i) Potential and Actual resources

(i1) Ubiquitous and Localized resources
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Q8. What do you understand by dowry? Explain briefly the ‘Dowry Prohibition Act’. 3
Q9. Make a G.O. on the main sources that have helped the historians to study the past. Explain any
three in detail. 5)
Q10. Project work 5
e Prepare a scrap file on the sustainable management of the natural resources and its
conservation.
e Find out what type of natural resources (plants, animals, rocks, and fossil fuels) are used to
make the objects we use in our everyday life. Where does their trash go when these objects are

thrown away, and how does this affect the Earth.
Hints: Your file should be able to answer the following questions in detail.

» What are the natural resources that humans throw in the trash the most?

» Which resources do they use the most?

» Why is it important to conserve natural resources?

» What would happen to the earth if we used more resources than it could make?

» How can we conserve natural resources in our daily lives?
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Subject: Sanskrit

ey fAder

1 UYacd UZelleliel, 3cavdl, demd Yfeamrnd vq forad |

Qe 9w uesll & I weRa o Iow yEaer @ Gfke |

2 UeSTeld Jcawe, Piarade fofcar Raaeemenfa ~anfea wwofler |
et uzsil @ I Piama 3 fAaer Raa weE o) Taifda i |
3 oRidA e ,2cY vd T oIad ¥a cIvaoiie |

orf waTe ,geY v T o A difsie |

ueet 1 sreifafid scgmer ufsaa agfdscuwmier yeee Sara - (1x5=15)
BedlAIGUGE 2000 ddl Wiwlies sadde AT Uerd foosd wefeds |
Bl TIIIQUCRIRI  TISlelloll  TIRIRelaredl 3ifed | ARadywl HAeIGieivel Sedlvdle Ucen
favIsil | 99 eI=Aeid] ©NIEY 3Jovicel dgdddl UCRRRI Qdeilel: HAelyT o Teolledl
=afetaifais | UGeRRI Bauiel siwdcas Bedlwidle UCRIRRI ~aoeIe] olidell faweiras | sifwate, ucel
3ifeleba1 31ee1d] 3cUcel oTafd | BedlI9IgUCel: €Il &I ®elRl Sid I°Id | UCSRRI RAGIIR.
Fiecayl enfeiawverctar sifsiefierd | BecliwioleuceRI yaaeidl dTeeicl 3ifd | =R WASRID
adly feigemre, swcl, sq, O%l, Sk, dell scace: Afed | cfelvl aNearl «1d yasfa | a=em
eIRidl Sealddl «1dl dvde dvscidl 3lecdid ufecd foeman uasfad |swuld o9l foicrs
clterges  <afelsis  Jelomell  ®a  3nenwelan | fdeeigy  dvsal  3fewefd  waelgea  sfd
efdeifeimvercer sifed | a=1 seEIRn dAfcar <gfdwenad | =rapi-bien sioaeid =eEe a5RRT
UBTEl RIle] HABIBhIA BIfciclwI AEGAdIRRRI Tddreee 31T 3=t | gedars! Eiaren goiarst
godear! cam sfd e uftiesn | sTeIg SR BecladTguce |
1 UCTRA Hauiey iRdAcds Bedlwidle UGTIRRI e olldell faeeines’ 1
() =asprEl e

(%9 )3R=avs sirget

(a1) eotge sirget

(ar) =fa@ gz efreen
2 fdcrage vsal 3teadid waegedl sfd ®lger werersr sifea’ 1
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(&) et @1 W
4 RO &SRR UGSl TRllel ol TaelRelell 31T smefla 7 1
(v ) Frermfa eifcarrw dugdererR
(Ra) FEIDfa Pifciaraww TgdRieERRT
(a1) vreTfa wifciar sifeiseTengoteidecHR
(a1) FHeTofd BIfCIGrHaR BARAATHDIRIRI
5 ‘vaefd sfd yewRI g eers O fbe s 7 1
(@) utae, e ceETPr: = |
(Ra) wtag aige clcgT®Rs o |
(a1) gtag erqge ciiceTor: T |
)

(1) gtag, arqgs cieleidRs: d |

ueel 2 A qreal PRI Yaod Yaieldl, WeRIaRN Raareensnfa qweia - (¥2x 6 =3)
IAoo[I - QeI , dgavlifel , Jemew™l |, wSmior, SRR, gufol

D
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Ied 3 ‘Hfele aorE vt sraeasadrsia fawerey, siftiqgea fiae ufd fAfRde s aoe
Sfclauds qzem | (Y2x6=3)

dromr-, dfdeuasem , ceforr, f[Rdeenfd | | e |, e
2IRG, SIAHI]

O_'IGIEUC'HEIS
fafers  12.06.2023

qedAGRYiR fugasTeie:,
[1]------ " yureifat |
<fdeter [2]------ I, A1 Yenfamt udtenr wonfel aan | 9 3cawufol  2neiefa

31a1aet | 3ifwdret [3]------ 316 918 of MeIfawnfd,ad: faenereia ewwm [4]------ PEGIE
q@as | e e efdeifee wererere  [5]------ sireifsiar 3ifed | fuen asnerRes [6]------
HERIBGIVT YtRIoy dldodt: | 9N wdd, HRletd| Yo fageImst oe: |

Aaalen g,
ZIerds |
ueet 4 sreifafdd wae ropmrm sfaauafa facar Raaeemenfa gy -
(Yox4=2)

ater - afe [4]------ d Woldl wifcwnfa |
Neel 5 IPoNRN Uacas 3fdd sierRue: Raaeemsnfa qwea — (Vax4=2)

#Adal , Wewdl , oeld , ®id

—— qul 3R |

——— &ddl 91d fase 3ifa |

el —— 3reiioges Al 7

— ¢1a{d 3R |

seat 6 srifafRidy Reazenay ugfd yvwr <=isa aenfd owa - (Yax4= 2)
1 @ i —— ( folRq +ocar) gweers erafa|
2 ot —— (a1t + qope1) fRIcTeTeree 9TeBfa |
3 a1 goud —— ( urt oear) uoeld BRI |

W N -

Page 15




4 FArcerdl weme, —— (o + qofel) carere, aresid |
Jeat 7 Yaifea uce, e sl fasfierarer —

(1) =em geIOIRI ITeBid |

(2) e cfiger emafe |

(3) =1 Berd ~arcfd |

(2) sreer uicswrc aremfat |
e 8 vlered 3¢ faraa -

AT , oU3 , TICTISBSId, , eleTdR
uea 9 favivor fovlsr o dsra —

(1) ofces LCATHY
(2) eiofgae L GIGH
(a) udgerg ZRIIoy

(Yox4= 2)

(Vax4=12)

(Y2x4=2)

(15x4= 2)
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Subject: Computer Science

General Instructions:

1) The work should be done neatly and in a systematic way.

2) The given questions are to be done in the Computer Science notebook.

3) Attempt all questions.

I. Name the following operators used in Python:-
a) %

b) /I
C) *%*

I1. Identify the data types for the following variables in Python:-
a) a=12.34

b) x="Python Basics’
c) p=19

I11. Write the full forms of the following:-
a) HLL

b) LLL
c) IDLE
d) GUI
IV. Fill in the blanks:-

(o) I _shortcut key is used to run the Python program.

1x3=3

1x3=3

1x4=4

1x5=5

d) Aceeveeninaen isa control that repeats the set of instructions, a given number of times.

e) The ceveveennnnen. variable is used to keep the track of the number of times the while loop is

executed.
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